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Nimi: Piivimiii _ Pisteet:
(=5)* = (-2) = (—4)* = (-7) =
5 —(-8) = 4 —1=
8+ (—4) = (-2)-1=
(-6)" = (-3) = 5 +(-3) =
10-7= 7—(-9) =
(—10)° — (—4) = 2%+ (-5) =
(—4)+3 = 4 +(-1)=
3 +9= 5 +(-7)=
32 +(-10) = (—9)2 — (=5) =
(4= (-9 = 7 =(=5)=
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Nimi: Pivimidri:___ Pisteet: ___
(=5)° = (-2) = (-123) (4 = (-7) = (=57)
5% —(-8)=33 4 -1=15
8+ (—4)=4 (-2)—1=(-3)
(—6)* — (-3) = 39 55 +(=3) =122
10-7=13 7-(-9) =16
(—10)° — (=4) = (—996) 27 +(=5)=(-1)
(-4 +3 = (1) £ +(-1)=15
3*+9=136 5 +(=7)=118
32 +(-10) = (- 1) (—9)* — (-5) = 86
(—4)-(-9) =5 70 —(=5) = 348
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